Subject: Re: Calculate Nepal 2011 stillbirth using pregnancy history information
Posted by Trevor-DHS on Tue, 28 Mar 2017 22:08:33 GMT

View Forum Message <> Reply to Message

First, you cannot mix the p, b, and m variables all together in the reshape. The p series are all
pregnancies, including non-live births. The b series are only live births, and the m series are only
live births in the last 5 years. While the b and m series are actually in parallel, the p series of
variables are not so reshape does not work to combine these.

See http://userforum.dhsprogram.com/index.php?t=msg&th=4692& amp;goto=8646&#msg_8646
and the other messages in this thread.
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